MAned

PasientKlarFraAr a RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr
2015 509 461 535 408 398 536 284 419 561 551 538 476 5i676
2016 541 575 565 622 586 565 206 448 478 513 538 402 61039
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PasientKlarFraAr a LI LI LI LI LI LI LI LI LI LI LI LI LI
2015 20 14 26 8 29 54 17 26 38 28 8 15 283
2016 21 2 10 9 18 8 4 16 9 7 16 14 134
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PasientKlarFraAr a RB RB RB RB RB RB RB RB RB RB RB RB RB
2015 29 30 44 33 19 28 10 19 34 29 33 31 339
2016 28 30 29 32 24 37 14 27 30 33 46 39 369
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Rekvisisjoner

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’
PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

HenteKommune = 'SKAUN'

Rekvisisjoner (RB)

PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'

HenteKommune = 'SKAUN'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

Rekvisisjoner (LI)

PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

Netto = 'Benyttet'

PasientKontor = 'St. Olavs hospital’
HenteKommune = 'SKAUN'

Pivot-tabell LI

Pasientkontor = 'St. Olavs hospital’
PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

Netto = 'Benyttet'

HenteKommune = 'SKAUN'

Pivot-tabell RB

Netto = 'Benyttet'

TransportType = 'TAX'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
PasientKontor = 'St. Olavs hospital’
HenteKommune = 'SKAUN'



Pivot-tabell

TransportType = 'TAX'

HenteKommune = 'SKAUN'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

PasientKontor = 'St. Olavs hospital’
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